
3GPP TSG-RAN WG1 Meeting #68bis
R1-121137
Jeju, Korea, 26 – 30 March 2012

Source:
Panasonic
Title:
TDD CA timing difference handling

Agenda Item:
7.1
Document for:
Discussion and decision
1 Discussion
In Rel-10, the DL timing difference between CCs is up to 31.3 usec is required to be handled by UE [1]. Relating this, we'd like to have one clarification on TDD uplink-downlink switching time.
Fig 1 illustrates a TDD timing behaviour with 2 CCs. At the UE reception point, SCell is received earlier than PCell by at most 31.3 usec. Within PCell, Tx-Rx switching time is available/reserved by having
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. i.e. around 20 usec. On the other hand, because of SCell is received earlier than PCell, SCell reception and Tx-Rx switching time can be conflicted. This means the earlier part of SCell OFDM symbol can be conflicted with Tx-Rx switching time. 
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Fig 1 issue of Tx-Rx switching
To overcome this situation, one of following can be managed by the network.
· The network takes into account additional 31.3 usec or possible PCell/SCell timing difference at UE when setting the TA value. In case of PRACH, transmission timing is not influenced by TA value. However, because PRACH does not utilize full subframe length and the next subframe just after PRACH is not frequently allocated to the UE, we don't think it is critical problem. 
· Not to rely the first OFDM symbol of SCell by using cross-carrier scheduling.
Therefore, we propose UE does not have the responsibility to manage the conflict between Tx-Rx switching time and SCell reception.

If above is agreeable in RAN1, we propose to send LS to RAN4.
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